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1. Complete the following table

Total Product

__Units of Labour
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50
90
120
140
150
150
140
120

" 2. Complete the following table

Units of Capital Total Product Average Product | Marginal Product
1 - - 20
2 - - 16
3 - - 12
4 - - 8
b — - 1
6 - — 0
7 - —4

" 3. Determine Law of returns to a factor from the &)llowmg table

Units of Labour Total Product Marginal Product | Average Product
1 20 - =
2 32 - _
3 42 - =
4 48 = S
. 5 v 50 _ - =
4. Determme dlfferent stages gfwl;v;\gf‘ varlt;l;k proportlons from the followmg
table.
Units of Variable input 0 1 2 3 4 5
Qutput 0 16 40 56 56 40

5. Plot the followmg mformatlon on the

between.

graph and dgt‘errf;i;;the relationship

(a) Average Product and Marginal Product.
(b) Total Product and Marginal Product.

Also mention various stages of law of variable proportion

] Average Marginal
nputs of labour Units Total Product Pro duit Pro‘g;:‘;
1 2 2 2
3 9 3 4
4 12 3 3
5 14 2.8 2
7 15 2.14 0
8 14 1.75 -1

variable proportion from the following.
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6. Identify the various phases about the behaviour of output implied in the law of

v s o . .
|

nits of Variable Input 1 2 3 4 5 6
g_gmal Product (units) 20 25 20 4. 10 | 0 | -10
7. Identify dxfferent phases about the behavmur of output -implied in the law of
variable proportion from the followin g -
Unit of Variable Input : 0 1 2 3 4 5
Total Product : 0 5 12 18 18 15
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8. From the following mformatlon ldentlfy various stages in the change in total
product.

Units of Labour Inputs 1 2 3 4 5 6
Total Products (units) 50 110 150 180 180 150

o Rk ol

AN e okt




